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QUESTION 1

Which of the following policies helps secure data and protects the privacy of organizational information? 

A. Special-Access Policy 

B. Document retention Policy 

C. Cryptography Policy 

D. Personal Security Policy 

Correct Answer: C 

 

QUESTION 2

Packet filtering firewalls are usually a part of a router. In a packet filtering firewall, each packet is compared to a set of
criteria before it is forwarded. Depending on the packet and the criteria, the firewall can: i)Drop the packet ii)Forward it
or send a message to the originator At which level of the OSI model do the packet filtering firewalls work? 

A. Application layer 

B. Physical layer 

C. Transport layer 

D. Network layer 
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Correct Answer: D 

 

QUESTION 3

HTTP protocol specifies that arbitrary binary characters can be passed within the URL by using %xx notation, where
\\'xx\\' is the 

A. ASCII value of the character 

B. Binary value of the character 

C. Decimal value of the character 

D. Hex value of the character 

Correct Answer: C 

 

QUESTION 4

What sort of vulnerability assessment approach starts by building an inventory of protocols found on the machine? 

A. Inference-based Assessment 

B. Service-based Assessment Solutions 

C. Product-based Assessment Solutions 

D. Tree-based Assessment 

Correct Answer: A 

 

QUESTION 5

Identify the person who will lead the penetration-testing project and be the client point of contact. 

A. Database Penetration Tester 

B. Policy Penetration Tester 

C. Chief Penetration Tester 

D. Application Penetration Tester 

Correct Answer: C 
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